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v" Support and Movement
All of the following are functions of endoskeleton in humans except:

A. Protection to critical internal organs B. Mineral homeostasis
C. Blood cell production D. Thermoregulation
It is the most rigid form of connective tissue found in humans:
A. Bone B. Tendon

C. Cartilage D. Blood

All of the following are the features of spongy bone except:

A. Light in weight B. Rich blood supply
C. Provides attachment sites for muscles D. Hi

A flexible, elastic, non-living matrix called co secreted by
during cartilage tissue formation.
A. Stem cells

C. Chondrocytes
All of the following functions are perfi

A. Attachment of muscles with bones in joints

C. Formation of external pinnae of swallowing
Total number of cervical and ¢ i uman vertebral column is:
A7

C.18

These cells are equip i ic-li anism and involved in bone
resorption and breakdo

A. Osteocytes

C. Osteoclasts D. Osteoblasts

Axial skelet

A. Skull B. Sternum

C. Clavicle D. Ribs

Cranium is

A. 2 paired an B. 2 unpaired and 4 paired

C. 2 paired and 2 unpal - D. 4 paired and 4 unpaired
Lacrimal bone is: ke -

A. Paired bone of cranium B. Paired bone of face

C. Unpaired bone of cranium D. Unpaired bone of face

Four curvatures in vertebral column are helpful in providing:

A. More protection to spinal cord B. More strength

C. Attachment site for limbs D. More CSF production
Vertebral column starts with which vertebra:

A. Axis B. Thoracic

C. Sacral D. Atlas

It is an injury to a ligament:

A. Fracture B. Dislocation

C. Sprain D. Osteoporosis

It is the chest bone in axial skeleton of human body:

A. Hyoid B. Sternum

C. Maxilla D. Ribs

Number of bones in appendicular skeleton are:

A. 126 B. 80

C.200 D. 30

In children, rickets is characterized by all except:

A. Bowed legs B. Excess calcium in body

C. Deformed pelvis D. Deficiency of vitamin ‘D’
Which of the following secretes a watery fluid that lubricates and cushions joints?
A. Tendon B. Ligament

C. Synovium D. Cartilage

The joint which allows only rotational movement is:

A. Hinge joint B. Pivot joint

C. Saddle joint D. Multistage joint

These joints are held together by short fibers embedded in connective tissue:
A. Fibrous joints B. Hinge joints

C. Synovial joints D. Ball and socket joints




Q.20 Proximal end of which bone is involved in formation of hip joint?

A. Tibia B. Femur
C. Fibula D. Humerus
Q.21 The shoulder and hip joints are example of:
A. Gliding B. Pivot
C. Saddle D. Ball and socket
Q.22 develop in people who have high level of uric acid in their blood.
A. Osteoarthritis B. Spondylosis
C. Gouty arthritis D. Sprain
Q.23 During soft callus formation, are involved in production of collagen
fibres that connect the ends of broken bones.
A. Osteoblasts B. Myeloblasts
C. Fibroblasts D. Osteoclasts
Q.24 The functional partner of bone is:
A. Tendon B. Ligament
C. Skeletal muscle D. Fascl
Q.25 Muscles are the specialized type of tissues havin origin.

A. Ectodermal
C. Mesodermal
Q.26 Non-polarizing region of sarcomere is ¢
A. I-band
C. M-line
Q.27 Color of red fibers of muscles is
A. Glycogen
C. Oxyhemoglobin
Q.28 These muscles are irregularly st
A. Skeletal muscles
C. Cardiac muscles ascular smooth muscles
Q.29 Stimulation of a muscle fi

A. Neuromuscul

Q.30 Complete i to:

A. Muscle a B. Muscle hyperplasia
C. Muscle h D. Muscle tetany
Q.31 After death, the 1ff due to deficit of ATP. This condition is called:

A. Spasm ~ B. Rigor mortis
C. Tetanus » D. Spastic paralysis
Q.32 Origin of skeletal muscle is attached to:
A. Immoveable bone through tendon B. Immoveable bone through ligament
C. Moveable bone through tendon D. Moveable bone through ligament
Q.33 With the routine exercise, all of the following changes occur in skeletal muscle except:
A. Increase in number of mitochondria B. Increase in number of muscle fibers
C. Increase in myoglobin D. Increase in blood capillaries
Q.34 Function of the skeletal muscles is:
A. Moves the skeleton B. Pumps blood
C. Vasodilation D. Propel food through GIT

Q.35 The hydrolysis of the ATP that is bound to myosin causes:
A. Release of myosin head from actin filament B. Reversible binding of actin filament
C. Irreversible binding of actin filament D. Phosphorylation of actin filament
Q.36 Sarcomeres are the part of:

A. Myofibrils B. Thick filaments
C. Thin filaments D. Actin molecules
Q.37 When a sarcomere contracts, then all of the following can occur except:
A. I-band shortens B. A-band shortens
C. Z-lines come closer D. H-zone disappears
Q.38 T-tubule is the part of:
A. Myofibril B. Neuron
C. Endoplasmic reticulum D. Sarcolemma
Q.39 Energy for muscles contraction comes from ATP. The supply of ATP is normally maintained by:
A. Glucose B. Glycogen
C. Starch D. Creatine phosphate

Q.40 The H-zone in the skeletal muscles fibre is due to:
A. The absence of myofibrils in the central portion of A-band
B. The central gap between actin filaments extending through myosin filaments in the A-band
C. The central gap between myosin filaments in the A-band
D. Extension of myosin filaments in the central portion of the A-band




Q.41 I-band contains:
A. Actin filaments only B. Mainly actin partly myosin
C. Myosin filaments only D. Mainly myosin partly actin

Q.42 Sarcolemma invagination and adjacent sarcoplasmic reticulum membranes are
collectively called as:

A. T-tubule B. T-system

C. Triad D. Ca™? sacs
Q.43 Itis a complex of three polypeptide chains:

A. Actin B. Troponin

C. Myosin D. Tropomyosin

Q.44 A motor unit is developed by:
A. Single motor axon innervating multiple muscle bundles
B. Multiple motor axons innervating single muscle bundle
C. Single motor axon innervating multiple muscle fibers
D. Multiple motor axons innervating multiple muscle fibers

Q.45 The boundary of each sarcomere is defined by alled Z-line, which is actually
the part of:
A. A-band
C. H-zone

Q.46 These are most primitive type of musc
A. Cardiac muscles
C. Skeletal muscles

Q.47 Which of the following is corre

Feature
A Blood vessels
B. Living Cell

2l Collagen
Calcium

Q.48 A myosin mol olypeptide chain/s in its tail which terminates
in
A2 D B.4,4
C.4,2 B 1,2

Q.49 Put the follo oper order to describe muscle contraction:

1. Signals sent by CN I neuron
2. Generation of ac ial in the sarcolemma
3. Release of Ca*? fr coplasmic reticalum
4. The neurotransmitter acetylcholine released
5. Sarcomere shortens
A. 152545335 B. 154535255
Cl—>4—52-53-55 D. 5545353251
Q.50 It typically begins gradually with stiffness of jaws and neck muscles and progresses
to spasm of trunk and limb muscles:

A. Muscle fatigue B. Tetany
C. Muscle cramp D. Tetanus
Q.51 Clavicle connects:
A. Humerus with sternum B. Coracoid with sternum
C. Scapula with sternum D. Cervical vertebrae with sternum
Q.52 Which one of following receives the nerves from somatic nervous system?
A. Skeletal muscle B. Smooth muscle
C. Cardiac muscle D. All involuntary muscles
Q.53 The collagen fibers of bones are hardened by deposit of:
A. Calcium phosphate B. Calcium chloride
C. Calcium nitrate D. Magnesium phosphate
Q.54 Human wrist and palm contains following bones respectively:
A. Carpals and tarsals B. Tarsal and metatarsal
C. Carpals and metacarpals D. Metacarpal and phalanges
Q.55 Bones protect critical internal organs like:
A. Brain, spinal cord, heart B. Brain, all nerves, spinal cord
C. Heart, stomach, eyes D. Spinal cord, pinna of ears, lungs
Q.56 For muscle contraction, Ca+2 in sarcoplasm are released from:
A. T-tubule B. Troponin
C. Sarcoplasmic reticulum D. Myosin filament
Q.57 All bones in skull are immovable except:
A. Maxilla B. Mandible

C. Nasal D. Lacrimal




Q.58
Q.59
Q.60
Q.61
Q.62

Q.63

Q.64
Q.65
Q.66

Q.67

Q.68

Q.69
Q.70
Q.71
Q.72
Q.73
‘Q.74
Q.75
Q.76

Q.77

Skull forms joint with:

A. Atlas B. 1*" thoracic vertebrae
C. Axis D. Last cervical vertebrae
Longest bone of lower limb is:

A. Ulna B. Tibia

C. Radius D. Femur

Phagocytic cells of bones are called as:

A. Fibroblasts B. Osteoclasts

C. Osteoblasts D. Osteocytes

Ilium is the part of:

A. Small intestine B. Pulmonary tract

C. Pectoral girdle D. Pelvic girdle
During muscle contraction in humans, source of energy is:

A. Chemical

C. Mechanical
The sliding protein of muscle:

A. Tubulin

C. Myosin

Vertebrae are named according to:
A. Structure

C. Functions

Muscle fatigue is due to accum
A. Lactic acid

C. Pyruvic acid

All of the following are
A. I band shortens
C. Z-lines gets clos

Small bone lo
bone of the
A. Incus
C. Hyoid
Increased e
characteristic

A. Muscle fatigue » B. Tetanus

C. Muscular tetany “» D. Muscle cramps
Vestigial bone found in human skeleton is:

remains unchanged

e disappears
skull which does not articulate with any other

B. Malleus

D. Stapes
, loss of sensations and respiratory arrest are the

A. Sacrum B. Coxal bone
C. Last lumber vertebrae D. Coccyx
Osteoporosis is more common in aged women due to deficiency of
A. FSH B. Estrogen
C.LH D. Progesterone
Site for the attachment of pelvic girdle is:
A. Sternum B. Ribs
C. Vertebral column D. Skull
Myoglobin is found in:
A. Blood B. Spleen
C. Bones D. Muscles
The dark bands of a skeletal muscle are known as
A. Tsotropic bands B. Intercalated disc
C. Anisotropic bands D. Cross bridges
Total number of “Free Ribs” in human body is
Al B.4
2 D. 8
Knee joint and elbow joint are example of:
A. Ball and socket joint B. Cartilaginous joint
C. Hinge joint D. Fibrous joint
is dense connective tissue that surrounds entire muscles.
A. Tendon B. Epimysium
C. Ligament D. Perimysium
Bundle of collagen, non-elastic fibres that attach muscle to bone are:
A. Capsule B. Tendon

C. Belly D. Ligament




Q.78 In the following diagram of skeletal muscle bands i, ii and iii are representing:

(i) (i)
| (iii)
)] (ii) (iii)

A band I band H zone
I band A band Z line
M line 7 line H line
H zone I band A band
Q.79 Backbone is formed by vertebral column, which

A. Skull to pelvis B. Skull

C. Neck to sacrum

Q.80 Pelvic girdle attaches the hind limb w
A. Sacral
C. Coccygeal

Q.81 Elbow joint is an example of:
A. Fibrous joint
C. Synovial joint

Q.82 End of long bones are ¢
A. Tendons
C. Ligaments

Q.83 Binding site
A. Thin fil B. Troponin
C. Actin D. Myofilament

Q.84 The structu unit of muscles are and 3
respectively:
A. Muscle fiber, sacr — B. Myofilaments, muscle fibers
C. Myofilaments, sacr  D. Sarcomere, muscle fiber

Q.85 In muscles, the supply of ATP during strenuous activity is met by storing substance
called as:

S| |w |

to

column.

A. Glycogen B. Glucose
C. Creatine Phosphate D. Dextrin
Q.86 At rest, of the lactic acid is broken aerobically and its energy is used to
change remaining lactic acid into glucose.
A. 20% B. 40%
C. 80% D. 100%
Q.87 Release of Ca™ into cytoseol from ER is controlled by:
A. Ca™ gates B. Ca™ pumps
C. Na/K pump D. Voltage gates
Q.88 1In all or none principle, all the fibrils of participate in response.
A. Muscle fibers B. Muscle bundle
C. Muscles D. Myofilaments
Q.89 In a motor unit, how many motor neurons innervate muscle fibers?
Al B.2
.3 D. Equal to number of muscle fibers
Q.90 Cyclic activity of cross bridges is carried out directly due to the continuous supply
of:
A. Nutrients B. Blood
C.ATP D. Urea
Q.91 Thin filament extends across the:
A. I-band only B. A-band only

C. H-zone and I-band D. A and I-bands
Q.92 The number of vertebrae in coccyx are:
A.2 B.3
C.4 B.3




Q.93

Q.94

Q.95

Q.96

Q.97

Q.98

Q.99

Q.100

Q.101

Q.102

Q.103

Q.104

Q.105

Q.106

Q.107

Q.108

Q.109

Q.110

Q.111

Which of the following statements concerning the role of Ca++ in the contraction of
skeletal muscle is correct?

A. The mitochondria act as a store of Ca*™ for the contractile process

B. Ca™" entry across the plasma membrane is important in sustaining the contraction of
skeletal muscle

C. A rise in intracellular Ca™ allows actin to interact with myosin

D. The tension of a skeletal muscle fibre 1s partly regulated by G protem

The function of the T-tubules in muscle contraction is to 2

A. Make and store glycogen

B. Release Ca++ into the cell interior and then pick 1t up again

C. Make the action potential deep into the muscle cells

D. To hamper the nerve impulse

The bone dissolving cells are called:

A. osteoclast B. osteoblasts

C. osteocytes D. fib
Contraction can be sustained for a long period o

A. skeletal muscles B. smoo
C. cardiac muscles

The disorder in which bones are poro
A. Osteomalacia

C. Rickets
Shank region have total bone/s?

A. one

C. five

Bone is surrounded by
A. Perichondrium

C. Perimycium

sition normal is?

B. Yellow

C. Orange D.Bothaandb
Fatigue fre

A. Striped B. Unstriped

C. Cardiac D. Triceps
Sarcolemma is the -

A. Bone * B. Joints

C. Muscle fiber D. Heart
Regeneration of cartilage is carried on by:

A. collagenous fibers B. blood vessels
C. perichondrium D. matrix
Bones are held together in the joints by:

A. tendons B. smooth muscles
C. ligaments D. nerves

Bicep muscles are attached to the humerus by:

A. Tendon

B. Ligaments

C. Elastic fibers

D. Areolar

The process of bone formation is called:

A. Calcification B. Chondrification
C. Decalcification D. Ossification

The sites where the motor nerve impulse is transmitted from the nerve endings to
the skeletal muscle cell membranes are the

A. neuromuscular junction B. sarcomeres

C. myofilaments D. Z-discs

Myoglobin has a special function in muscle tissue:

A. it breaks down glycogen B. it is a contractile protein
C. it holds a reserve supply of oxygen D. none of these

A network of tubules that runs through compact bone is called the:
A. Haversian canal B. Periosteum

C. Marrow D. Joints

Heart muscles are called:

A. Smooth muscles B. Myogenic muscles

C. Striated muscles D. Skeletal muscles

The human sacrum consists of Vertebrae?




A2 B.3
C. 4 D.5
Q.112 Mature cells of cartilage are:
A. Chondrocytes B. Osteocytes
C. Osteoblasts D. Osteoclasts
Q.113 The remodelling of bone is a function of which cells?
A. Chondrocytes and osteocytes B. osteoblasts and osteoclasts
C. Chondroblasts and osteoclasts D. Osteoblasts and osteocytes
Q.114 In skeletal muscle, calcium facilitates contraction by binding to
A. Tropomyosin B. Actin
C. Troponin D. Myosin

Q.115 In which of the following disorders the structure and function of normal spinal cord
is damaged?
A. Arthritis
C. Spondylosis

Q.116 Collagen type-II is found in
A. Muscle

C. Cartilage
Q.117 Bone contains 35% of organic portion

A. 65%
C. 90%
Q.118 Perichondrium is the membran
A. Hard bone

C. Spongy bone
Q.119 Which of the following

A. Osteoblasts

C. Osteoclasts
Q.120 In sarcomere

A. A-band
C. I-band D. z-line
Q.121 Which of t !
A. Cardiac B. Skeletal
C. Smooth D. Bothaandc
Q.122 Which of the given re striated muscles?
A. Skeletal  B. Cardiac
C. Both D. None
Q.123 % of the energy expended in muscles contraction is used in work?
A. 65% B. 35%
C. 56% D. 70%
Q.124 Tetanospasmin is produced by Gram +ive spore producing bacteria which causes:
A. Tetany B. Tetanus
C. Both D. None
Q.125 Face contains unpaired bone?
A3 B.4
.8 D. None
Q.126 The number of bones found in pelvic girdle is?
A 2 B.4
C.6 D. None
Q.127 Which of the given cells play major role in matrix production?
A. Osteoblasts B. Osteocytes
C. Osteoclasts D. Myocytes
Q.128 Cartilage heals slowly because:
A. It has no osteoclasts B. It has no collagen-I
C. It has no blood vessels D. Bothbandc
Q.129 Which of the following have role in bone resorbtion?
A. Paratharmone B. Osteoclasts
C. Calcitonin D.Bothaandb
Q.130 Cartilages have % of inorganic salt?
A. 35% B. 65%
C. 30% D. None
Q.131 Sciatica is a disorder related to ?
A. legs B. Arms

C. Skull D. All




Q.132 Which of the following is/are auto-immune disorder?

Q.133

Q.134

Q.135

Q.136

Q.137

Q.138

Q.139

Q.140

Q.141

Q.142

Q.143

Q.144

Q.145

Q.146

Q.147

Q.148

Q.149

Q.150

Q.151

Q.152

A. Osteoarthritis

C. Gouty arthritis

Which of the given diseases is genetical?
A. Tetanus

C. Gout
Injury of ligaments is called

A. Spondylosis

C. Disc slip

Muscles are originated from
A. Ectoderm

C. Endoderm

B. Rheumatoid arthritis
D.Bothbandc

B. Disc slip
D. None

B. Sprain
D. Sciatica

B. Mesoderm
D. Hypoblast

Branched cells, irregular striation and involuntary control are the characteristics

of:
A. Skeletal muscles cells
C. Cardiac muscles cells

A. Voluntary

C. Multinucleated
Diameter of muscle fiber is

A.2-10

C. 10-30
During molecular contraction t
A. Actin

C. Troponin

A —band is due to:
A. Actin
C. Tropomyosi
Diameter of
A. 10-100

C. Two Z —lines
Deficiency of Ca™

A. Tetanus
C. Both

e

D. None
D]

B. Two M —lines
~ D. None

B. Tetany
D. None

The sarcoplasmic reticulum of the muscle fiber reaccumulate the Ca™ by

A. Active transport

B. Passive transport

C. Diffusion D. None

Cross bridges are found in

A. Thin filament B. Myosin filament
C. Actin filament D.Bothaandb
Cramps occur due to

A. Over use of muscles B. Deficiency of ions
C. Both D. None

The number of bones in vertebral column is

A.22 B. 28

.26 D.33

Which of the given bone/s have no joints?

A. Coxal bone B. sternum

C. Both D. None
Which of the following is paired bone?

A. Hyoid bone B. Vomer

C. Occipital D. Temporal
Cranium number of unpaired bones?

A4 B.6

C 8 D. None

The joints in the wrist Joints?

A. Cartilaginous B. Fibrous

C. Synovial D. None

Hip joint is the example of joint?
A. Hinge joint
C. Cartilaginous joint

B. Ball and socket joint
D. fibrous joints




Q.153 The pain feeling in narrow muscles of buttock is due to

A. Spondylosis B. Arthritis
C. Piriformis syndrome D. None
Q.154 The healing time for simple fracture in small or medium size bone in adult is
weeks?
A.2-6 B. 2-26
C. 6-8 D. 4-20
Q.155 The bone fracture in which the skin get rupture is called
A. Compound fracture B. Open fracture
C. Both D. None
Q.156 Cartilage contains % of inorganic salt.
A.35% B. 65%

C. 90%
Q.157 Which one is multinucleated cell?
A. Osteocyte
C. Both
Q.158 % of organic portion of bone co
A. 65%
C. 90%
Q.159 Which one causes resorbtion?
A. Cells of collecting ducts
C. Cells of proximal
Q.160 Total no. of bones in tr
A. 26
C. 126
Q.161 Which cells ha

A. Osteoblast B. Osteoclast cells

C. Both D. None
Q.162 Crystals of
A. Hyaline ¢ B. Fibrous cartilage

D. None
are found in?
“», B. Osteocytes

C. Elastic cartila
Q.163 Longest cytoplasmic
A. Osteoblasts

C. Osteoclasts 'D. Chondrocytes
Q.164 Total no. of bones in the pectoral bone in the human female?
A.2 B.4
C.6 D.8
Q.165 Largest bone of face is ?
A. Zygomatic B. Mandible
C. Maxilla D. Parietal
Q.166 Cartilaginous joints are found in?
A. Knee B. Wrist
C. Elbow D. Hip
Q.167 Ankle joints are ?
A. Ball & Socket B. Synovial
C. Freely movable D. Cartilaginous
Q.168 Tetanospasmin is secreted from bacteria which is .
A. Coci B. Bacillus
C. vibro D. G -ive
Q.169 Tetanospasmin blocks the nerve impulses from to muscle?
A. Cerebrum B. Thalamus
C. Spinal cord D. Limbic system
Q.170 The atlas and axis vertebrae are located in.
A. Lumbar region B. Cervical region
C. Thoracic region D. Pelvic region
Q.171 Hip joint and shoulder joints are examples of
A. Cartilaginous joint B. Synovial joint
C. Hinge joint D. Ball and socket joint
Q.172 Skeletal muscles contain dark band, which are anisotropic, are called
A. A band B. I band

C. Z band D. M line




Q.173 The acetabulum provides the articular surface for the

A. Humerus B. Femur

C. Pelvis D. Fibula
Q.174 Scapula is connected with sternum by

A. Ribs B. Carpals

C. Clavicle D. Atlas

Q.175 Which statement correctly describes the smooth muscles?
A. Unstriated involuntary with spindle shape cells
B. Unstriated involuntary with multinucleate cells
C. Unstriated involuntary with uninucleate cells

D. Unstriated involuntary with spindle shape cell
Q.176 Thin myofilaments consist of

A. Actin, myosin, troponin B. Actm tropomyosin. tfroponin
C. Actin, tropomyosin, fibrin yoglobin, troponin

Q.177 Which of the following changes occur when skel uscle contracts?
A. The A bands shorten B. Th

C. The Z line move further apart ; omes more visible
Q.178 A human internal organ is protected mai

A. Hydrostatic skeleton
C. Exoskeleton
Q.179 Blood cell production occur in
A. Red bone marrow
C. Both

Q.180 Which of the following b i . correspond to the femur in
the leg?

A. Radius
C. Tibia
Q.181 At the distal e ee joint with the proximal end of two parallel
bones called
B. Radius and ulna
; D. Tarsal and metatarsal
Q.182 Which of th
A. Slightly mov

C. Synovial joint elbo
Q.183 The deep inflowing

B. Hinge joint hip
= D. Immoveable joint sutures in cranium
scle fibre membrane is called

A. Sarcoplasmic reticula B. Z lines
C. T tubules D. Sarcomeres
Q.184 Bone dissolving cells ore called
A. Chondrocytes B. Osteoblasts
C. Osteoclasts D. Osteocytes
Q.185 Which of the following cartilage is found at the end of long bones?
A. Calcified B. Fibrous
C. Clastic D. Hyaline
Q.186 At times ligaments are overstretched or torn. It is called
A. Sprain B. Dislocation
C. Fracture D. Tension
(Q.187 Which ion is essential for muscle contraction?
A.Na B.K
C.Ca D. Cl
Q.188 Human shall is comprised of bones
A.8 B. 14
C.2 D. 32
Q.189 vertebra are said to be the “strongest vertebra®
A. Cervical B. Thoracic
C. Lumbar D. Pelvic
Q.190 All are parts of axial skeleton except
A. Skull B. Vertebral column
C. Rib cage & sternum D. Pelvic girdle
Q.191 Smallest bone in human body is
A. Stipes B. Maleus
C. Incus D. Patella
Q.192 Hardest bone in human body is
A. Femur B. Tibia

C. Humerus D. Mandible




Q.193 Heaviest / bone strongest in human body is

A. Femur B. Tibia

C. Humerus D. Mandible
Q.194 Total number of “Free Ribs” in human body is

Al B.2

C.4 D.8
Q.195 All are types of synovial joint except

A. Ball & socket joint B. Hinge joint

C. Pivot joint D. Cartilaginous joint
Q.196 Most mobile and least stable type of joint is

A. Ball & socket joint B. Pivot joint

C. Fibrous joint D. Cartilaginous joint

Q.197 Knee joint and elbow joint are example of
A. Ball & socket joint
C. Cartilaginous joint

Q.198 Hinge joint allows movements in

planes

A2, 1
C. 2, many
Q.199 is dense connective tis
A. Tend
C. Epimyoium
Q.200 Regarding contraction of muscl 1l are true except
A. A band exhibit no ch
C. H — band exhibit no ch mes move close to each other
Q.201 Thin filaments in Sarcome sed of
A. Actin . Tropomyosin
C. Troponin D. All “AsBY‘Q”
Q.202 “Cross bri
A. Actin B. Tropomyosin
C. Troponin D. Myosin
Q.203 Regarding ske re, the bands which contains only thick filaments
A. A band = B.H - band
C. I band . D. Both “A” and “B”
Q.204 are known as basic contractile units of skeletal and cardiac muscles
A. Sarcomeres B. Muscle fibers
C. Bundles of muscle fibers D. Myofibrils
Q.205 covers binding sites on actin
A. Tropomyosin B. Troponin C
C. Myosin D. Noneol "A” , " B?  7C?
Q.206 is calcium binding protein in muscle
A. Actin B. Myosin
C. Tropomyosin D. Troponin C
Q.207 Practically speaking is muscle cell
A. Muscle fiber B. Fascicle
C. Sarcomere D. Myo Filament
Q.208 Tendon attaches
A. Bone to bone B. Muscle to bone
C. Muscle to muscle D. Muscle to skin
Q.209 muscles are striated and involuntary
A. Skeletal B. Cardiac
C. Gut smooth D. Vascular smooth
Q.210 Actin and myosin do not form Sarcomeres is
A. Skeletal muscles B. Cardiac muscles
C. Smooth muscles D. Both “B” and “C”

Q.211 When action potential travels along ,,T tubules® in skeletal muscles it causes
opening of Ca channels in

A. Sarcoplasm B. Sarcoplasmic reticulum
C. Sarcolemma D. Both “B” and “C”




Q.212

Q.213

Q.214

Q.215

Q.216

Q.217

Q.218

Q.219

Q.220

Q.221

Q.222

Q.223

Q.224

Q.225

Q.226

Q.227

Q.228

Q.229

Q.230

In skeletal muscle contraction — relaxation process which of the following process
does not utilize “ATP*

A. Attachment of ,,cross™ bridges with binging sites
B. Cross — bridge cycling
C. Pumping of Ca++ from Sarcoplasm to sarcoplasmic reticulum

D. Detachment of ,.cross bridges™ from binding sites
Which is related to cramp

A. Titanic contraction of entire muscle
B. It causing the muscle to become taut & painful

C. It lasts for just few seconds to serval hours
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Modified form of smooth endoplasmic reticulum present in muscle is
A. Sacroplasmic reticulum B. Ectoplasmic reticulum
C. Myoplasmic reticulum D. None of these

Clavicle bone provide connection between
A. Scapula & sternum

C. Ribs & sternum
Each muscle fibre is surrounded by a m

A. Sarcolemma

C. Both “A” and “B”
Compact bone makes up the
A. Rounded head of long bone

C. Both “A” and “B”
Modified form of synapsed

A. Neuromuscular junct
C. Synapse of motor & 1i in
‘Which muscle is s
A. Smooth mu B. Cardiac muscle
C. Skeletal D. None of these

called as

f motor & sensory neuron
B” and “C”

Myosin tail polypeptide
A. One B. Two
C. Three D. Four

Which of following skelet
A. Slow / tonic muscl

C. Both “A” and “B”
Z — lines get closer in

A. Muscle contraction B. Muscle relaxation
C. Both “A” and “B” D. None of these

le fibres contains few mitochondria
= B. Fast / twitch muscle fibres
* D. None of these

Thousands of T — tubules of each muscle cell are collectively known as

A. T —tubule & terminal portion B. T — system

C. Sarcomere D. Sarcoplasmic reticulum
Rib cage gives the protection to the organs except

A. Heart B. Lungs

C. Liver D. Intestine

Gliding joint present between

A. Vertebrae, wrist & ankle bones B. Between bones of skull

C. Elbow, knee & finger joints D. Sacrum & illium of pelvic girdle
Which of following receives the nerves from voluntary nervous system?
A. Skeletal muscle B. Cardiac muscle

C. Smooth muscle DL ATLSA™ == 0P

Z — line is mid — line of

A. A —band B. I - band

C.H - zone D. M - band

The collagen fibres of bone are hardened by deposit of

A. Ca — phosphate B. Ca — nitrate

C. Ca —chloride D. Mg — phosphate

Mineral homeostasis in bones is maintained by

A. Positive feedback mechanism B. Negative feedback mechanism
C. Both “A” and “B” D. None of these

Complete immobilization of muscle leads to

A. Muscle atrophy B. Muscle hypertrophy

C. Muscle hyperplasia D. None of above




Q.231 Which cell is related to cartilage?
A. Osteocyte B. Osteoblast

C. Osteoclast D. Chondrocytes
Q.232 The scapula is a flat, triangular shaped bone which covers a number of anterior
ribs, & at one end is a concave depress ion which is known as

A. Acetabulum cavity B. Gleniod cavity

C. Formen triosseum D. Nucleus pulposus
Q.233 Origin of skeletal muscle is attached to which part of skeleton

A. A fixed non movable part of the skeleton B. A movable part of skeleton

C. Slightly movable part of skeleton D. None of these
Q.234 Low Ca™" level in blood causes the muscular disorder mainly
A. Muscle fatigue B. Tetany
C. Tetanus D. Pulled muscle
Q.235 When the triceps muscle contract which effect is observed
A. Straightening of arm at elbow joint B. Ben of arm at elbow joint

C. No effect is observed D. Bo d “B”
Q.236 The majority of muscle tissue in our body (Human i
A. Skeletal muscle
C. Smooth muscle
Q.237 Myofibril contains
A. One Sarcomere
C. Three Sarcomere
(Q.238 Cardiac muscles are:
A. Voluntary
C.Bothaandb .
Q.239 The thick filament whic e composed of:
A. Actin 1

Q.240 Muscle fatig
A .CO; B. Accumulation of lactic acid

C. Fumaric D. Ethyl alcohol
Q.241 Brachiorad -

A. Radius B. Ulna

C. Both A and B * D. Humerus
Q.242 Thin filament in m g

A. Actin, tropomyosin, troponin B. Z line

C. Myosin D. Sarcomere

Q.243 The contraction of striated muscle is initiated by the release of energy in the
presence of:

A. Acetyl choline B. Calcium ion
C. Chloride 10on D. Iron
Q.244 Which of the following changes occur when skeletal muscle contracts:
A. The A band shorten B. The I band shorten
C. The Z-line slide farther apart D. The actin filament contract
Q.245 Which of these is a direct source of energy for muscle contraction?
A. ATP B. Lactic acid
C. Creatine phosphate D.Bothaandb
Q.246 When muscle contracts:
A. Sarcomeres increases in size B. Myosin slides past actin
C. Lactic acid 1s produced D. Both A and B
Q.247 Which is the end of muscle which remains fixed when muscles contracts?
A. Insertion B. Origin
C. Tendon D. Belly
Q.248 Muscle is connected to bone by:
A. Tendon B. Ligament
C. Z-line D. Cross briges
Q.249 Tetanus is caused by:
A. Bacteria B. Virus
C. Fungi D. Clostridium tetani
Q.250 Skeletal muscle fibers have diameter:
A. 100-200 p B. 10-100 p

C. 10-100 nm D. 100-1000 p




Q.251

Q.252

Q.253

Q.254

Q.255

Q.256

Q.257

Q.258

Q.259

Q.260

Q.261

Q.262

Q.263

Q.264

Q.265

Q.266

Q.267

Q.268

Q.269

Q.270

Muscles in the Gut Wall are:

A. Smooth B. Skeletal

C. Cardiac D. Voluntary

Which of the following muscle straightens the Elbow Joint:

A. Brachialis B. Triceps

C. Biceps D. Brachioradialis

Slightly elastic connective tissues that attach bone to bone are called:
A. Tendons B. Brachialis

C. Brachioradialis D. Ligament

Skeletal muscles are called striated (stripped) because of presence of:
A. Red and Yellow band B. White and Yellow band
C. Alternating light and dark band D. Red and black band

The earliest form of muscles to evolve is:

A. Cardiac muscles B.

C. Smooth muscles muscles
Each musle fiber is surrounded by a membrane
A. Sarcomere

C. Twitch fiber

Which disease is caused by low calciu
A. Tetany

C. Muscle fatigue

When calcium ions are release
-—— during muscle contraction:

A. Tropomyosin

C. Cytosol’s 1ons
Which one is most com

A. Muscle fatigue

ic reticulum they bind with -

; D. Tetanus
The length o to the next is described as
A. Sarcole B. Sarcoplasm

C. Sarcome D. Muscle fiber

Where we fi re of fine structure of skeletal muscle’s myofibril?
A.In the mid o B. In I'band

C. Besides the Z-line ~ D. Along the I band

The repeated protei of myofibrils is called:

A. Sarcomere B. Telomere

C. Sarcolemma D. Cross bridges

Which of the following changes occur during skeletal muscles contraction?
A. I-band shortens only

B. A-band shortens and Z-lines move apart

C. I-band shortens and Z-lines come close to each other

D. Actin filaments contract
The sarcolemma of muscle fiber folds inwards and forms a system of tubes which
runs through the sarcoplasm called:

A. Myofilaments B. Sarcoplasmic reticulum

C. Z-lines D. Transverse tubules

At the start of a muscle contraction, calcium ions are released from:

A. Acting. B. The T tubule.

C. The motor neuron. D. The sarcoplasmic reticulum.
The “Insertion” is attached to the:

A. Moveable bone B. Immoveable bone

C. Porous bone D. Compact bone

Diameter of a myofibril is

A l-2pum B. 10 - 100 um

C.7-8um D. 16 um

Twisting around the actin chains are two strands of another protein:

A. Troponin B. Tropomyosin

C. Myosin D. Collagen

There is a regular alteration of light and dark bands called the respectively:
A.I-band and A — band B. A —band and I — band

C. M — line and A — band D. Z — line and I — band
Myofibril consists of many threads like structures called:

A. Actin filaments B. Myosin filaments

C. Myofilaments D. Intermediate filaments
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Q.272

Q.273

Q.274

Q.275

Q.276

Q.277

Q.278

Q.279

Q.280

The special contractile protein actin is found in

A. Thick filaments of A — bands B. Thin filaments of I — bands

C. Both thick and thin bands D. Whole of myofibril

Which statement is correct for muscle contraction?

A. Length of H — zone 1s decreased B. Length of A — band remains constant
C. Length of I — band gets increased D. Length of two Z — line get increased
Troponin is a

A. Digestive enzyme B. Muscle protein

C. High energy reservoir D. Water soluble vitamin

During the muscle contraction which zone disappear

A.1-—zone B. Z — zone

C. H - zone D. M — zone

The light bands (I — bands) of a skeletal muscle are known as
A. Tsotropic bands

C. Intercalated disc
In the resting muscle fibre, tropomyosin parti

A. Calcium binding sites on troponin : ' ites on myosin

C. Myosin binding sites on actin ' ites on actin.
Cardiac muscle is characterized by

A. Striated appearance
C. Branching pattern

The dark bands (A — bands) of
A. Isotropic bands

C. Intercalated disc
During muscle contracti

A. Chemical energy is ch
B. Chemical energy is chan

Tile H-7zo0
A. The abse al portion of A — band.
B. The centra filaments in the A — band.

E. Extension of myos ents in the central portion of the A — band.

Questions 281, 282, and 283 are based40n the following diagram:
4

Q.281

Q.282

Q.283

Q.284

Q.285

Q.286

=T N :
During muscle contraction, which of the following regions decrease(s) in length?
A. 1 only B. 1 and 2 only
C. 3 and 4 only D. 2, 3, and 4 only
Region 1 refers to:
A. The thick filaments only. B. The thin filaments only.
C. The A-band. D. The I-band.
Which region represents one sarcomere?
Al B.2
.3 D. 4

With which of the following molecules does Ca? * bind after its release from the
sarcoplasmic reticulum to regulate muscle contraction?

A. Myosin B. Actin

C. Troponin D. Tropomyosin

Which of the following cells is correctly coupled with its definition?
A. Osteoblasts—bone cells involved in the secretion of bone matrix

B. Osteoclasts—immature bone cells

C. Osteocytes—polynucleated cells actively involved in bone resorption
D. Chondrocytes—undifferentiated bone marrow cells

When a muscle is attached to two bones, usually only one of the bones moves. The
part of the muscle attached to the stationary bone is referred to as:

A. Proximal B. Distal
C. Origin D. Insertion E. Ventral
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Q.288

Q.289

Q.290

Q.291

Q.292

Q.293

Q.294

Q.295

Q.296

Q.297

Q.298

Q.299

Q.300

Q.301

Q.302

Which type(s) of muscle is/are always multinucleated?
I. Cardiac muscle

II. Skeletal muscle

II1. Smooth muscle

A. Tonly B. IT only

C. III only D. I and IT only

Which type(s) of muscle has/have myogenic activity?

I. Cardiac muscle

II. Skeletal muscle

II1. Smooth muscle

A. I only B. IT only

C. III only D. I and III only

Red bone marrow is involved in erythrocyte formation. In contrast, yellow bone
marrow:

A. Is involved in leukocyte formation. : ible for drainage of lymph.

C. Causes the formation of spicules. : ominantly adipose tissue.
Ligaments connect to

A. Bone to muscle; bone to bone

C. Muscle to muscle; bone to muscle igaments to bone

E. Tendons to bones; muscle to mus
The wells of arteries consist of

A. Striated muscle and are under
B. Striated muscle and are not un

D. Smooth muscle and
E. A mixture of striated

IC nervous system
control of the autonomic nervous

system

A movement int to a more acute angle is termed
A. Flexion B. Insertion

C. Tonus D. Diastole

E. Extension

Which of the

A. Muscle cell has ma fibers ... B. Muscle cell has many myofibriis

C. Muscle fiber has es tells . D. Sarcomere has bundles of muscle fibers
Diameter of each myofibril is .7 3

A.2 pm B. 100 um

C. 10 pm D. 100 pm

T-tubules in human skeletal muscles are present at:

A. Z-line B. A-I junction

C. M-line D. H-zone

Increase in muscles mass is called:

A. Hypertrophy B. Hypotrophy

C. Atrophy D. Protrophy

Which of these is mismatched?

A. Hinge joint-hip B. Slightly moveable joint - vertebrae

C. Synovial joint - elbow D. Immoveable Joint - sutures in cranium
Osteoporosis is more common in aged women due to deficiency of hormone.
A. FSH B..LH

C. Estrogen D. Progesterone

Which triggers the release of calcium ions from sarcoplasmic reticulum?
A. Formation of actin-myosin cross bridges B. Sarcomere contraction

C. An action potential D. Increase in calcium ion concentration
The pigment which stores oxygen in muscle is:

A. Haemoglobin B. Myoglobin

C. Myosin D. Actin

Inner part of bone which is porous and soft in nature is called:

A. Compact B. Spongy bone

C. Connecting bones D. Protective bones

Which one of the following pair represents unpaired facial bones?

A. Maxilla and mandible B. Maxilla and vomer

C. Mandible and vomer D. Mandible and zygomatic




Q.303 Which one of the following is considered as smallest bone of the human body?
A. Hyoid B. Malleus

C. Stapes D. Incus
Q.304 A motor unit is made up of:

A. All the muscle fibers within a given muscle
B. A motor neuron and the muscle fibers it innervates
C. All the neurons going into an individual section of a body

D. A fascicle and a nerve
Q.305 Which one of the following is correct regarding A-band?

A. Tt is non-polarizing B. It 1s 1sotropic

C. It contains only myosin D. Myosin acts as a polarizer of light
Q.306 Man's vestige of a tail is:

A. Sacrum B. Last lumber vertebrae

C. Coxal bone B, Coec

Q.307 Total number of bones which constitute pectora
A. Two
C. Five
Q.308 When muscle contracts, thick and thin fi
A. Overlapping
C. Shortening
Q.309 Osteocytes develop from:
A. Osteogenic stem Cells
C. Chondrocytes ;
Q.310 Contractile protein of sk i aSe activity is:
A. Actin
C. Myosin
Q.311 All of the followin traction except:
A. 1 band short B. Z-lines gets closer
C. Abandre D. M-line disappears
Q.312 Which one i ave no Joint cavity?
A. Synovial B. Cartilaginous joints joints
C. Fibrous jo D. Multistage joints
Q.313 Human vertebral formula i
A. C7ToLsS4Cay " B. CiT12L4S:Car
C. C7T12LsSsCa4 3 D. C7T12L4S4Can
Q.314 The number of ribs that are attached Wlﬂl sternum:

e of a human being:

A. 20 B. 24
C. 12 D. 12 pairs
Q.315 Chief component of thin filament is:
A. Actin B. Myosin
C. Troponin D. Fibrous proteins
Q.316 Which pair does not possess corresponding bones?
A. Carpals and tarsals B. Atlas and coccyx
C. Pectoral girdle and pelvic girdle D. Humerus and femur
Q.317 Phagocytic cells of bone are called
A. Fibroblast B. Osteoblast
C. Osteoclast D. Osteocyte
Q.318 Longest bone of lower limb is:
A. Ulna B. Radius
C. Tibia D. Femur
Q.319 How many unpaired bones are found in skull?
A.6 B. 14
C.3 D.22
Q.320 Which of the following is an example of synovial joint:
A. Joint between clavicle and scapula B. Joint between rib and vertebral column
C. Joint between radius and ulna D. Joints between skull bones
Q.321 For muscle contraction, calcium ions in sarcoplasm are released from:
A. T tubule B. Sarcoplasmic reticulum
C. Mitochondria D. Myosin filament
Q.322 Visceral muscles are also called as smooth muscles because they:
A. Don't contain muscle proteins B. Don't have striations

C. Don't have multiple nuclei D. Help 1n peristalsis




Q.323

Q.324

Q.325

Q.326

Q.327

Q.328

Q.329

Q.330

Q.331

Q.332

Q.333

Q.334

Q.335

Q.336

Q.337

A statement not true about bones and cartilages:
A. Both contain living cells B. Both have ground matrix of collagen

C. Both contain various types of living dells D. Both are part of endoskeleton
The disorder in which bones are porous and thin but bone composition is normal is;

A. Osteomalacia B. Osteoporosis

C. Rickets D. Arthritis

The remodeling of bone is a function of which cells?

A. Chondrocytes and osteocytes B. Osteoblasts and osteoclasts
C. Chondroblasts and osteoclasts D. Osteoblasts and Osteocytes

Which of the following statements concerning the role of Ca* in the contraction on
skeletal muscle is

A. The mitochondria act as a store of Ca™ for the contractile process

B. Ca™ entry across the plasma membrane is important in sustaining the contraction of
skeletal muscle

C. A rise in intracellular Ca™ allows actin to intera
D. The tension of a skeletal muscle/fiber 1s partly r
The function of the T tubules in muscle contractio
A. Make and store glycogen

B. Release Ca into the cell interior and
C. Make the action potential deep intq th
D. To hamper the nerve impulse
The sites where the motor ne
muscle cell membranes are the:
A. Neuromuscular junctio
C. Myofilaments
Myoglobin has a specia
A. It breaks down
B. It 1s a contra
C. It holds a
D. None of
Which one
. Redness o
IL. Stores O
I1l. Stores glycogen

myosin
y G proteins/muscle

ulse is ed from endings to the skeletal

% B. IIonly

A.Ionly

C. III only ‘D.land I

E. L, II, and Ill

Smooth muscle does not contain.

L Actin

I1. Myosin

III. Troponin

A.Ionly B. Il only

C. III only D.Tand II

E.L II, and

Calcium ions goes back to sarcoplasmic reticulum after muscle contraction by
A. Diffusion B. Facilitated diffusion
C. Active transport D. Osmosis
Which one of the following is not related to muscle cramp
A. Clostridium tetanl B. Dehydration
C. Low blood glucose level D. Lack of ATP
E. Low blood glucose

No of sacral vertebra

A7 B. 12

.5 .3

E. 4

Which band is anisotropic to polarized light?

A. Iband B. A-band

C. H-zone D. M-line

E. Z-line

Point of attachment of myosin Filament is

A. Z-line B. H-zone

C. M-line D. A-band

Which area contains only myosin filaments
A. Z-line B. H-zone
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Q.340

Q.341
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Q.343

Q.344

Q.345

Q.346

Q.347

Q.348

Q.349

Q.350

Q.351

Q.352

Q.353

C. M-line D. A bond
Actin filament along with myosin filaments are part of

A. A-Band B. I-Band

C. H-zone D. M-line
Fusion of vertebral joints are called

A. Slip disc B. Arthritis

C. Spondylosis D. Sciatica
Estrogen replacement therapy is treatment for

A. Osteoarthritis B. Gouty arthritis
C. Osteoporosis D. Rickets

Pain and inflammation of small joint of fingers are Symptoms of
A. Gouty arthritis B. Osteoarthritis
C. Rheumatoid arthritis D. Rickets

Rickets and osteomalacia are due to lock of vitamin D in
A. Adults and children d children
C. Adults and adults adults
Calcium phosphate in bone is deposited In
A. lacunae

C. Bone matrix

An Investigational drug prevents v preventing ATP
hydrolysis at the active site in m i ost likely to act?

A. Intermediate
C. Actin tail

E. Myosin tall
Ions are key In medi
interacts directly with i

A. Myofibrils

of the following Structures
ites in contracting muscle?

C. Troponin . Cross-bridges

E. Tropomyo

Which of i ions does not decrease in length during
muscular ¢ i

A I band

B. All of these p ring contraction
C. H zone

D. None of these po ease during eontraction
E. A band

In excitation-contraction coupling in skeletal muscle, the calcium released from the
smooth endoplasmic reticulum binds to which of the following?

A. Myosin B. Actin

C. Tropomyosin D. Calmodulin

E. Troponin

In a muscle cell, the H-zone has

A. Thin filaments only B. Thick filaments only

C. Z-discs D. Thick and thin filaments overlapping
During muscle contraction, which band(s) of the sarcomere shorten(s)?

A. The H-band only B. The I-band only

C. The A-band only, D. The H-band and I-band

E. The A-band and H-band
Muscle myeofibrils are arranged longitudinally into sarcomeres. Which of the
following correctly lists the boundaries of a single sarcomere?

A. Z line to Z line B. M line to H band

C. Z line to H band D. Z line to M line
The muscles that are attached to the skeleton are:

A. Smooth muscles B. Skeletal muscles

C. Cardiac muscles D. Involuntary muscles

Generally, each end of the entire muscle is attached to bone by a bundle of collagen,
non-elastic fibres known as:

A. Ligament B. Capsule

C. Tendon D. Connective tissue
It is a long cylindrical cell with multiple oval nuclei arranged just beneath its
sarcolemma:

A. Muscle fibre B. Muscle bundle
C. Myofibril D. Myofilament
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Q.368
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Sarcoplasm of muscle fibres differs from the cytoplasm of the other cells as it
contains usually:

A. Large amount of stored starch
B. A unique oxygen binding protein, myoglobin
C. Hemoglobin that stores oxygen

D. Large amount of stored lipids
Myofibrils run in parallel fashion and extend entire length of the:

A. Muscle bundle B. Muscle

C. Muscle fibre or muscle cell D. Myofilament

Bundles of myofibrils are enclosed by the:

A. Muscle cell membrane B. Nuclear membrane

C. Sarcolemma D. Muscle cell membrane or sarcolemma
The light band of sarcomere is called:

A. H band B. A band

C. Iband D.M
Light and dark bands of muscles give the muscl
A. Strength

C. Striped appearance
A sarcomere is the region of a myofibri
A. A-lines

C. Z-lines
Myofibrils contain:
A. Myofilaments

C. Thin filaments

whole its:

It is made up of thick
A. Myofibril fibre
C. Muscle bundle filament

The diameter
A. 16 nm B. 7-8 nm

B. Two linear heads

D. A linear head
aments~link the thick and the thin myofilaments
that is why they are sometimes called:

C. A globular hea
Globular heads of
together during con

A. Cross links B. Cross bridges

C. Cross connection D. Cross heads

Thin filaments have a diameter of:

A.1-2 nm B. 10-60 nm

C. 7-8 nm D. 16 nm

Thin filaments are composed chiefly of:

A. Actin B. Troponin

C. Tropomyosin D. Actin, tropomyosin and troponin

Out of three polypeptides of troponin one binds to actin chain, another binds to
tropomyosin while third binds:

A. Myosin B. Collagen

C. Sodium ions D. Calcium ions

The hypothesis to explain all events involved in muscle contraction was suggested by:
A. H. Huxley B. H. Huxley and A.F Huxley

C. AF. Huxley

D. H. Huxley and A.F Huxley and their colleagues
During muscle contraction the cross bridges of thick filaments become attached to:

A. Myosin filament B. Binding sites of myosin filament
C. Binding sites on actin filament D. Actin filament

Calcium ions bind with the troponin molecule and cause them to:

A. Extend B. Move slightly

C. Contract D. Remain in the same position

Once the myosin head has become attached to the actin filament:
A. ATP i1s synthesized and the bridge goes to its cycle

B. ATP 1s hydrolyzed and the bridge goes to its cycle

C. ATP 1s synthesized and the bridge becomes fixed

D. ATP is hydrolyzed and the bridge becomes fixed




Q.372

Q.373

Q.374

Q.375

Q.376

Q.377

Q.378

Q.379

Q.380

Q.381

Q.382

Q.383

Q.384

Q.385

Q.386

Q.387

Q.388

Q.389

All the fibres innervated by a single motor neuron contract:

A. One after other B. Simultaneously

C. Separately D. Now or then simultaneously
T-system extends and encircles the myofibril at the level of:

A. Z-line B. A and I junction

C. Z-line or A and I Junctions D. M-line or A and I Junctions
It causes muscle pH to drop when the muscle suffers from:

A. Accumulation of ATPs B. Aerobic breakdown of glucose
C. Overactive metabolism D. Lactic acid accumulation

It increases the excitability of neurons and result in loss of sensation:

A. Cramp B. Muscle fatigue

C. Tetany D. Tetanus

The vertebrates possess Kinds of muscles:

A. Two B. Four
C. Three '
It has regular stripes:
A. Cardiac muscles

C. Voluntary muscles
It has many nuclei per cell:

A. Smooth muscles
C. Skeletal muscles
Contraction of smooth muscles
A. Spontaneous stimuli

B. Nervous system & ho
C. Stretch stimuli

causes.

A. Spontaneou B. Nervous stimuli
C. Stretch st1 D. Hormonal stimuli
The functio i i

A. To pump

B. To move

C. To control movemen ces through hollow organs

D. To pump the lymp
The function of skele

A. To pump blood
B. To move the skeleton
C. To control movement of substances through hollow organs

D. To pump the lymph
A smallest contractile unit of muscle contraction called sarcomere is the area
between two:

scles is to:

A. H- zone B. M- Line

C. Z- Line D. A band

The thousands of T-tubules of each muscle cell are collectively called:
A. Triad B. Sarco-tubules

C. T-system D. Neuromuscular junction

If a cross section of a sarcomere is seen, each myosin is surrounded by how many
actin molecules:

A:9 B.5

C.6 D.7

The protein filament which binds to the calcium:

A. Actin B. Myosin

C. Troponin D. Tropomyosin

Muscle fatigue is caused by:

A. CO; B. Accumulation lactic acid
C. Fumaric acid D. Ethyl alcohol

Twisting around the actin chains there are two strands of another protein:
A. Myosin B. Tropomyosin

C. Troponin D. Creatine

It remains fixed during muscle contraction:

A. Origin B. Insertion

C. Belly D. Bone




Q.390 can polarize visible light:

A. M-line of sarcomere B. I-band of sarcomere

C. H-band of sarcomere D. A-band of sarcomere
Q.391 Its length of myofibril from one Z-line to the next:

A. Plasma membrane B. Sarcomere

C. Sarcoplasm D. Sarcolemma
Q.392 Muscle cell is considered as:

A. Muscle fiber B. Sarcomere

C. Muscle bundle D. Myofibril
Q.393 Smooth reticulum is similar in structure to:

A. RER B. Microfilaments

C. Golgi bodies D. Sarcoplasmic reticulum
Q.394 Pick up the ranges of muscle fibre:

A 5-10um B.1-2um

C. 10— 100 um D. 50
Q.395 The thin filaments extend across the I- band an
A. Z-line
C. A-band
Q.396 The have mid-section called H zone:
A. H-zone
C. Z-zone
Q.397 Pick up a complex of three pol
A. Tropomyosin
C. Myosin
Q.398 Each myosin filament i
A.5
C. 10
Q.399 After death, t
A. Water

on both ends:

C. Oxygen D. ATP
Q.400 Majority o dy are type:

A. Smooth B. Circular

C. Cardiac D. Skeletal

Q.401 Which among the
interaction involve

components help(s) to control the myosin-actin
e contraction?,

A. Tropomyosin B. Troponin
C. Actin D. Both A and B
Q.402 M line links:
A. Adjacent Z-lines together B. Adjacent actin filaments together
C. Adjacent myosin filaments together D. None of these
Q.403 Human skeleton in the beginning is:
A. Made up of cartilage B. Made up of fibrous membrane
C. Both of these D. None of these
Q.404 Identify the protein with following features.
I) Beaded
IT) Form core of thin filament
III) Intertwined
A. Actin B. Troponin
C. Tropomyosin D. Thin filament

Q.405 From Z-lines:
A. Both thick and thin myofilaments extend in both directions
B. Thin myofilaments extend in both directions
C. Thick myofilaments extend in both directions

D. Sarcoplasm extends in both directions
Q.406 Which of the following components are regarded as shock absorbers?

A. Vertebrae B. Hinge joint at elbow
C. Fixed joints D. None of these
Q.407 During muscle contractions, which structures are formed and broken several times?
A. Z-lines B. I-bands
C. Cross-bridges D. All of these
Q.408 Movement of substances through hollow organs is regulated by:
A. Skeletal muscle B. Cardiac muscle

C. Smooth muscle D. Both B and C




Q.409

Q.410

Q.411

Q.412

Q.413

Q.414

Q.415

Q.416

Q.417

Q.418

Q.419

Q.420

Q.421

Q.422

Q.423

Q.424

Q.425

Q.426

Q.427

Q.428

The type(s) of muscles that do(es) not become fatigue is/are:

A. Skeletal muscle B. Cardiac muscle

C. Smooth muscle D. Both B and C

Synovial joints are toughened by:

A. Number of bands like tendons B. Number of bands like ligaments

C. Number of bands like blood vessels D.Aand B
Two, long parallel bones are:

A. Phalanges of toe B. Tarsal and metatarsal
C. Humerus and femur D. Tibia and fibula

Which component blocks myosin binding sites on actin molecules, preventing cross-
bridge formation and preventing contraction in a muscle without nervous input?

A. Tropomyosin B. Actin

C. G protein D. Troponin

What is/are the function(s) of joints?

A. To give mobility e skeleton

C. Both of these D. No
The protein(s) component(s) of thin filament is/ar
I. Tropomyosin II. Actin
A. 1 II and III
C. II only
The sarcolemma goes through deepiinto
A. Myofibril

C. G protein

Ribs:

A. Help to protect heart
C. Both of these

n as:

The midline of I band is

A. H-zone

C. Z-line . None of these
Muscle is divi iscr f muscle cells known as:
A. Myofibri B. Muscle fibre

C. Muscle f: D. Myofilament
During the contraction, power stroke occurs. Which event(s)
is/are not rel

I) ATP attaches with

II) Sarcomere contr

IIT) ADP and Pi diss om actin

A. IIT only B. Il only

C.Ionly D. I and III

The type of joint found in ankle is:

A. Ball and socket joint B. Sliding joint

C. Gliding joint D. Hinge joint

Axial skeleton consists of which of the following components?
I) Vertebrae II) Ribs I1I) Skull

A. L II and III B. I only

C. III only D. II only

Cartilage is made up of:

A. Chondrocytes B. Osteocytes

C. Calcium phosphates D. All of these

The coccyx is:

A. Man’s vestige of a ribs B. Man’s vestige of a tail
C. Man’s vestige of a head D. Man’s vestige of a chest
Human skeleton may suffer from some deformities, like:

A. Congenital B. Hormonal deficiency
C. Malnutrition D. All of these

Calcium ions bind to:

A. Actin B. Tropomyosin

C. Bulbous heads of thick filament D. Troponin

Find the odd one out regarding the pelvic bone.
I) Pubis II) Ileum III) Ischium

A. IT only B. I, IT and III are related to pelvic bone
C.Ionly D. III only

Muscle fibre is covered by:

A. Endomycium B. Perimycium

C. Peritoneum D. Epimycium

The sliding filament theory of contraction states that during contraction:
A. M-line slides past the thin and thick filament

B. Thin myofilaments slide past the thick ones

C. Z-line slides over A band D. None of these




Q.429 When muscle fibres are stimulated by nervous system:
A. The myosin heads are attached on to actin binding sites on myosin.
B. The myosin heads are attached on to myosin binding sites on actin.
C. The actin heads are attached on to myosin binding sites on actin.
D. None of these
Q.430 During muscle contraction, nerve impulse is carried through the sarcolemma to:

A. SR and then to T tubule B. T tubule and then to SR
C. Mitochondria and then to T tubule D. None of these
Q.431 In sarcomere, H-zone is bisected by:
A. Dark band, A band B. Light band, I band
C. Light line, M line D. Dark line, M line
Q.432 In relaxed muscle fibre, thick and thin myofilaments overlap at the:
A. Ends of A band B. Centre of I band
C. Centre of A band D. Ends of I band
Q.433 What is the number of bones in adult human?
A. 206 bones B. 300

C. 210 bones D. 26
Q.434 In medical terminology, the fractured bone is als
A. Immature bone
C. Normal bone
Q.435 Find the correct statement(s) about b
I. Human bones are composed of chon
II. Human bones are composed o
III. Human bones are compose
A. Tonly
C. III only
Q.436 What is the number of
A.29
C.22
Q.437 Shoulder and hi
A. Hinge joint
C. Pivot join
(Q.438 Sciaticais ¢
A. Disc slip
C. Pelvic 1nj
Q.439 The condition
A. Disc slip
C. Arthritis
Q.440 The function of muscle is:
A. To convert chemical energy to electrical energy
B. To convert chemical energy to mechanical energy
C. To convert chemical energy to muscular energy
D. None of these
Q.441 Whatis true about skeletal muscles?
I. Skeletal muscles are attached to and cover bony skeleton.
I1. Skeletal muscles are attached to and cover internal organs.
II1. Skeletal muscles are attached to and cover heart and lungs.

B. Ball and .socket joint
D. Both Arand B

B. Trauma to sciatic nerve
D. All of these
and immoveable joints is:

. B. Herniated disk

_ D. Osteoporosis

A.Ionly B. Il only
C. III only D. L, II and III
Q.442 Find the type of muscle(s) that is/are involuntary in nature.
A. Skeletal muscles B. Cardiac muscles
C. Smooth muscles D. Cardiac and smooth muscles
Q.443 The neurotransmitter involved in muscle contraction is:
A. Calcium ion B. ATP
C. Acetylcholine D. All of these
Q.444 Skeletal muscles consist of muscle bundle which are further:
A. Composed of microfiber B. Composed of sarcoplasm
C. Composed of muscles fibre D. None of these
Q.445 Sarcoplasmic reticulum is a modified form of endoplasmic reticulum which:
A. Stores sodium B. Stores magnesium
C. Stores calcium D. None of these
Q.446 The light band is generally known as I-band and is:
A. Anisotropic B. Isotropic
C. Both of these D. None of these
Q.447 In sarcomere, what is located in the centre of A band having lighter band?
A. H-zone B. M-line
C. Z-line D. None of these
Q.448 A sarcomere is the region of a myofibril between:
A. Two successive H-zones B. Two successive M-lines

C. Two successive Z-lines D. None of these




Q.449 What is the functional unit of muscle contraction?

A. Muscle fibre B. Myofibre
C. Sarcomere D. Muscle fascicle
Q.450 The thick filament is composed of:
A. Tropomyosin protein B. Actin protein
C. Troponin protein D. Myosin protein
Q.451 Less supply of minerals and dehydration cause:
A. Muscle push B. Muscle fatigue
C. Muscle cramp D. All of these
Q.452 In muscle fatigue condition, the cross bridges are not able to detach due to:
A. Unavailability of lactic acid B. Unavailability of ADP
C. Unavailability of ATP D. Unavailability of glucose
Q.453 A common cause of tetany is:
A. Low level of potassium in body B. Low level of calcium in body
C. Low level of magnesium in body these
Q.454 Excessive intracellular accumulation of lactic a uscle causes:

A. Tetany
C. Muscle pull
Q.455 Clavicle links:
A. Ribs with sternum
C. Scapula with sternum
Q.456 When muscle contracts:
A. Thick and thin filaments unde
B. Thick and thin filaments under
C. Thick and thin filaments under
D. None of these
Q.457 Knee-cap is a general
A. Metatarsal
C. Tibia
Q.458 The structure
A. H-zone B
C. M-line

Q.459 All of the f i eletn'n except:
A. Sternum B. Skull
C. Shoulder bla D. Spine

Q.460 A motor unit is consi
A. A motor neuron
B. All the muscle fibres
C. A fascicle and nerve
D. None of these

Q.461 Human wrist and palm contain which of the following set of bones respectively?

cle fibres.it.innervates
n a given muscle

A. Metacarpals and carpals B. Tarsals and metacarpals
C. Carpals and metacarpals D. Metatarsals and tarsals
Q.462 Muscular disorder that is due to low sugar level and electrolytes imbalance is:
A. Cramps B. Tetany
C. Muscle tetany D. Muscle fatigue

Q.463 What is needed for stripped muscles to contract?
I. Release of calcium ions from troponin
I1. Binding of calcium ions to tropomyosin
II1. Binding of calcium ions to troponin
A. I only B. II only
C. III only D. I, II and III
Q.464 During mechanism of muscle contraction, cross bridges are formed:
A. Between troponin and tropomyosin
B. Between sarcolemma and sarcoplasmic reticulum
C. Between calcium and sodium
D. Between actin filaments and myosin heads
Q.465 During mechanism of muscle contraction, the release of calcium ions from
sarcoplasmic reticulum is triggered by:
A. Sarcomere contraction B. Action potential
C. Formation of actin-myosin cross bridges D. None of these
Q.466 Brain-box is made up of:

A. Four bones to protect the brain B. Seven bones to protect the brain

C. Six bones to protect the brain D. Eight bones to protect the brain
Q.467 Osteoporosis is more common in elderly women due to:

A. Deficiency of FSH B. Deficiency of oestrogen

C. Deficiency of progesterone D. Deficiency of LH




Q.468

Q.469

Q.470

Q.471

Q.472

Q.473

Q.474

Q.475

Q.476

Q.477

Q.478

Q.479

Q.480

Q.481

Q.482

Q.483

Q.484

Q.485

Q.486

Q.487

In humans, the main internal organs are protected by:

A. Hydrostatic skeleton B. Axial skeleton

C. Exoskeleton D. Appendicular skeleton
The main functional partners of bones is:

A. Tendon B. Ligament

C. Skeletal muscle D. None of these

The point of attachment of the nerve to the muscle is known as:
A. Chemical junction B. Mechanical junction
C. Neuro-muscular junction D. Synaptic junction
Ischium is the part of:

A. Pectoral girdle B. Rib cage

C. Vertebral column D. Pelvic girdle

The major component of thin filaments is:

A. Actin B. Troponin

C. Myosin D. Bulbous head

ATP required for muscle contraction are supplie :

A. Phosphorus B. Cr

C. Creatine phosphate D. My
A protein that is complex of three polypeptide chai
A. Actin

C. Myosin D. Troponin
What is true option about human vert
(C=cervical, T=thoracic, L=lumb
A. C7ToLs S4 Cy

i C? T[g L4 Sl Cl

The number of bones pres
A. 30

23S

The point of attachment

A. Belly g

C. Insertion D. Tendon

The joint ca :

A. Between B. Between vertebrae
C. Both of D. None of these
Synovial flu

A Protection o ' B. Lubrication

C. Both of these D. None of these

The characteristic
cardiac muscle cells is: :
A. Troponin B. Calcium ions

C. Intercalated discs D. None of these

Find the incorrect statement about mechanism of muscle contraction.

I. When Ca*" binds to a myosin head, it stimulates the formation of across-bridge
between myosin and actin.

I1. Myosin cross-bridges remain in place until the myosin head binds an ATP.

ed in skelégal and smooth muscle cells but observed in

A.Tonly B. Il only

C. Both are incorrect D. Both are correct

Muscles would remain in their contracted state, rather than their relaxed state:
A. Without ATP B. With ATP

C. Both of these D. None of these

The disc in the middle of the sarcomere, inside the H-zone is:

A. I-band B. A-band

C. M-line D. Z-line

When myosin expends ATP, it moves through:

A. Recovery stroke B. Power stroke

C. Fatigue D. Either A or B

The region where actin myofilaments are not overlapped by myosin myofilaments is:
A. A-band B. I-band

C. Both of these D. None of these

What is necessary for the myosin to rebind to actin at the next muscle contraction?
A. ATP must bind to actin to break the cross- bridge

B. ATP must bind to myosin to break the cross-bridge

C. Ca " must bind to myosin to break the cross-bridge

D. Either A or B

Each muscle cell may contain:

A. Many thousands of myofilaments B. Many thousands of myofibrils

C. Many thousands of muscle fascicle D. None of these




Q.488 When myosin becomes ready to bind to actin if the sites are available; it occurs:
A. When energy 1s formed by ADP + Pi
B. When energy 1s formed by ADP Pi1
C. When energy is released during ATP hydrolysis
D. Either A or B
E. None of these
Q.489 The region between two neighboring, parallel I-bands is known as:
A. A-band B. Light band
C. M-line D. None of these
Q.490 ATP is necessary for muscle contractions:
A. Because it breaks the myosin-actin cross- bridge
B. Because it forms the myosin-actin cross- bridge
C. Either A or B
D. None of these
Q.491 The muscle contraction cycle is triggered by calcium ions binding to:
A. Tropomyosin B. Tropofi
C. Actin D. M
Q.492 For the release of calcium ions from the sarcopla
A. Action potential must travel along actin
B. Action potential must travel along myosi
C. Action potential must travel along T-
D. None of these
Q.493 A sarcomere is the unit of:
A. Endomycium

C. Myofibril
Q.494 When muscle fibre shortens:
A. Z-line also shortens ; ' ent also shortens
C. Sarcomere also short B and C also shorten
Q.495 The movement of a limb ine of the body is known as:
A. Flexion

C. Adduction
Q.496 The areaw
A. Sarcome
C. A-band
Q.497 Which one o
I. Unstriated,
I1. Unstriated, Involu
II1. Striated, Involu

D. Abduction

ments overlap is called as:

B. Myofibril

D. I-band

es properly describes the smooth muscles?
le-shaped cells

tinucleated cells

ndle-shaped cell

A.Ionly B. I only
C. III only D.Iand II
Q.498 Which of the following bones in the human arm would correspond to the femur in
the leg?
A. Tibia B. Ulna
C. Humerus D. Radius

Q.499 During muscle contraction, myosin cross bridges:
A. Attach to active sites of myosin filaments B. Attach to active sites of the H zone
C. Attach to active sites of actin filaments D. Attach to active sites of Z lines
Q.500 Body’s oxygen debt (after heavy exercise) is repaid by:

A. Overlapping B. Eating

C. Breathing D. All of these
Q.501 The connective tissue that surrounds muscle cell:

A. Endomycium B. Perimycium

C. Epimycium D. Sarcolemma
Q.502 In spondylosis, severe pain is not observed in:

A. Shoulders B. Neck

C. Lower limb D. Severe pain 1s observed in A, B and C
Q.503 Which type(s) of joint(s) are found in elbow?

A. Hinge joint B. Pivot joint

C. Sliding joint D. Hinge joint and pivot joint
Q.504 What is required for tired muscle to work again?

A. CO; B. Glucose

C. H-O D. O
Q.505 Which one is the most primitive form of muscle?

A) cardiac muscle B) Skeletal muscle

C) Smooth muscle D) Cardiac & Smooth
Q.506 The collection of sarcoplasmic reticulum and tubule Is called as:

A) Triad B) Trimuscular body

C) Tetracular D) All of these




Q.507

Q.508

Q.509

Q.510

Q.511

Q.512

Q.513

Q.514

Q.515

Q.516

Q.517

Q.518

Q.519

How are muscles attached to bones?

A) Cartilage B) Tendon
C) Ligament D) Osteocytes
Which two muscles are in your upper arm?
A) Biceps and triceps B) Hamstrings and quadriceps
C) Biceps and hamstrings D) Biceps and thigh
Which muscle is adapted to be highly resistant to fatigue?
A) Cardiac B) Striped
C) Unstriped D) Voluntary
Thick filaments in skeletal muscle are composed of
A) Actin B) Myosin
C) Troponin D) Tropomyosin

Which of the following statements regarding the shortening of a skeletal-muscle
fiber is not true? When a skeletal-muscle fiber shortens the:

A) Sarcomeres shorten B) myofilaments shorten

C) The distance between Z lines decreases D) The niyofilament slide past each other

In skeletal muscle, calcium facilitates contractia i
A) Tropomyosin
C) Troponin
Rigor mortis occurs in a dead animal beg
A) ATP, which is necessary for the deta 10t being formed

B) ATP, which is necessary for the fo | ] - eing formed

C) ATP, which 1s necessary for the 10 TOS 0eS mues to be formed for
several hours after death
D) Deterioration of muscle protei acl of cross bridges
An action potential in _the | [
productions of a muscle

A) Z lines

C) H zone

How many type

Al B) 2

)3 D)4

What may an if the below diagram is a sarcomere?

A) Actin B) Myosin i

QATR D) Calcium _acy - 0
The term "Motor uni - - ° A *\\\\ Lt i
A) A single motor n 11 the musele fibres il 1 M |
innervates ;  f

B) A single muscle fibre plus all of the motor neurons that / ' n |

innervate it

C) All Of the motor neurons supplying a single muscle / €3¢S

D) A pair of antagonistic muscles

The functions of tropomyosin in skeletal muscle include:
A) Sliding on actin to produce shortening

B) Releasing Ca®" after initiation of contraction

C) Binding to myosin during contraction

D) Acting as a "relaxing protein" at rest by covering up the sites were myosin binds to
actin

Which of the following statements about the structure of skeletal muscle is not
correct?
A) Myofibers of skeletal muscle cells contain numerous myofibrils that are divided into
sarcomeres

B) The arrangement of thick myosin and thin actin filaments give the sarcomeres of
skeletal muscle a striated appearance under the microscope

C) In skeletal muscle Z discs of proteins at each end of the sarcomeres have the actin
filaments attached to them

D) The arrangement of thin myosin and thick actin filaments give the sarcomeres of
skeletal muscle a striated appearance under the microscope

Z-band




Q.520 The graphs given below illustrate the activity of two muscles. Select the correct
option

_ 4 4 4 asam .

A) Muscle A is more active than B

B) Muscle B is more energetic than A
C) Muscle A showed the excessive activity than B
D) Muscle B showed the excessive activityhan A.

Q.521 Which of the following statements skeletal muscle is

correct?
A) The power stroke of skeletal m confr 'S wh ¥ myosin head
hydrolyses ATP
B) The power stroke of skeletal contractio when the myosin head binds
ATP
C) The power stroke of s contraction oceurs when the myosin head releases
ATP
D) The power stroke of sk curs when the myosin head
releases ADP and Pi

Q.522 Which of the out the role of calcium (Ca**) during skeletal
muscle cont
A) Ca*" rele ' on or a nerve impulse binds to a site on the
myosin hea I
B) Ca’" relea the action of a nerve impulse binds to a site on

tropomyosin to
C) Ca*" released into a
actin to initiate contr: .
D) Ca?* released into a myofibril by the action o! a nerve impulse binds to a site on
troponin to initiate Contraction

Q.523 The muscle bundle is covered by

y the action of a nerve impulse binds to a site on the

A) Epimysium B) Endomysium
C) Perimysium D) Mesomysium
Q.524 The energy of muscle contraction is derived from the following except:
A) ATP B) Muscle glycogen
C) Creatine phosphate D) All of these
Q.525 Cardiac Muscles are present in which of following wall of heart.
A) Epicardium B) Myocardium
C) Endocardium D) All of these.

Q.526 All about the Sarcomere are true except:
A) Is the distance between myosin and actin
B) Is the contractile unite of the muscle
C) Is the distance between two Z membranes
D) Shorten when the muscle contracts
Q.527 Which of the following is not associated with nutritional deficiency or lethargy?

A) Muscle fatigue B) Muscle cramps
C) Tetany D Tetanus
Q.528 Which muscles are Maximum in human body?
A) Skeletal B) Cardiac
C) smooth D) All are present in almost equal number.
Q.529 Bones and cartilage consist of living cells embedded in the matrix of protein:
A) Collagen B) Insulin
C) Keratin D) Fibrinogen
Q.530 Bone to bone attachment is by:
A) Tendon B) Nerves
C) Muscles D) Ligament
Q.531 Sacrum is formed by the fusion of anterior vertebrae of Pelvic region:
A) Two bones B) Three bones

C) Four bones D) Five bones




Q.532 An inflammatory or degenerative disease that damages the joint is:

A) Hepatitis. B) Arthritis
C) Anthrax D) Meningitis
Q.533 Pick up wrist bones from following.
A. tarsals. B metatarsal
C carpal D metacarpals
Q.534 Ulm and radius form...... joint at their Distal end with carpals.
A ball and socket B Hinge
C multistage D pivot
Q.535 How many bones in appendicular skeleton are there.
A. 80 B 126
C 206 D 300
Q.536 facial bones contain paired and unpaired bones respectively.
A.2,6 B.2,4
C:4: 2 D. 6,2
Q.537 Stiffness of body after death is .

A post martum
C rigor mortis

Q.538 The joint which allows movement in several directi
A Hinge
C saddle

Q.539 The joint between radius and ulna are
A multistage
C yes

Q.540 pick up the muscle of tongue fr
A. Skeletal
C Cardiac

Q.541 The smallest contracti
A dark band
C sarcoplasmic refts

when viewed Under

A ultra-powe B Low power

D electron microscope

Q.543 Myofibril
A. myofilam B thick filament
C thin filament D muscle fiber
Q.544 The diameter of thin -
A 16 um » B.8um
C1-2um D 10-10100um
Q.545 Secondary Source of muscle contraction is
A ATP B creatinine phosphate.
C calcium D All of these.
Q.546 H Zone is a part of
A dark band B. light band
C sarcomere D Z line
Q.547 Which of following ion is responsible for muscle contraction?
A Ca B. Fe
C Mg D. Na
(Q.548 Muscle contraction is based on
A All and all principal B None and None principal
C All and None principal D 1t Don't depend on any principal
Q.549 which of following have many nuclei per cell
A smooth muscle B Skeletal Muscle
C Cardiac muscle D All are multinucleate
Q.550 The muscles of urinary Bladder and blood vessel are
A smooth B Cardiac
C Skeletal D All of these
Q.551 Pick up a 3-polypeptide protein from following.
A. actin B myosin
C Tropomyosin D troponin
Q.552 During muscle contraction bond will be form between.
A. Actin and myosin B myosin and troponin
C actin myosin and troponin D actin and Tropomyosin
Q.553 T system extends and encircle the myofibril at the level of:
A A band B Z line
C Z line and I junction D M line and I junction
Q.554 The contraction of Cardiac muscles is caused by:
A spontaneous B Nervous and Hormonal

C Stretch D All of these.




Q.555 Total muscles in our body are

A 206 B 605
C 650 D 300
Q.556 Where does head of femur articulate.
A Glenoid cavity B Acetabulum.
C Foramen D shoulder bone
Q.557 Ribs cage consist of total bones
A l2 B 24
C25 D 28
Q.558 The respiratory protein in muscle is
A Hemoglobin B Myoglobin
C Troponin D All of these
Q.559 Pick up Palm bones from following
A tarsal B metatarsal
C. metacarpals D phalanges
Q.560 Pick up longest bone of the body
A Humerus BU
C femur D verte
Q.561 Each myosin molecule has a tail terminating in.
A. Two globular heads
C. linear head
Q.562 Wrist bones in man are
A8
C a6
Q.563 When more energy is required
A. ATP
C lactic acid
Q.564 The antagonistic musc

A. Ligaments
C. Biceps and tr'
Q.565 In the below

A. Ball and socket Sternum and Neck
B. Ball and socket Spine and Skull
C. Pivot joint Spine and Rib
D. Pivot joint Spine and Skull

Q.566 Which one of the following functions is related with human endoskeleton?
A. Store glycogen B. Produce blood cells
C. Store nifrogenous wastes D. Produce lactic acid
Q.567 Another name for thigh bone is:

A. Humerus B. Femur

C. Clavicle D. Pelvis
Q.568 In the below diagram, 'F' represents:

A. Extension B. Flexion

C. Protraction D. Retraction
Q.569 The original number of bones in vertebral column is:

A.24 B. 26

C.33 D. 36

Q.570 Find the right row of answers about bones accordingly.

A. Femur Tarsals
B. Patella Metacarpals
s Humerus Carpals
D. Fibula Femur

Q.571 Muscles become fatigue due to accumulation of:




A. CO;
C. AT

B. Pyruvic acid
D. Lactic acid

Q.572 Which muscles push the food through the digestive tract?

A. Smooth muscles
C. Skeletal muscles
Q.573 The rib-cage protects:

B. Cardiac muscles
D. Cardiac and smooth muscles

A. Brain B. Heart

C. Lungs D.B&C
Q.574 The vertical lines in sarcomere are called:

A. Z-lines B. A-band

C. I-band D. H-zone

Q.575 In the below diagram, labeled parts V & W represent which bones?

ol 0| | >

d-“'l

1bula
Ulna
Radius

Q.576 Calcium ior
A. Sarcolemm3

B. Sarcomere

C. Myosin D. Sarcoplasmic reticulum
Q.577 In a typical joint, the® s are held together by:
A. Ligament ~ B. Tendon
C. Cartilage D. Hairs
Q.578 Observe the below diagram of muscle fibre and find the right row of answers
accordingly.
F
- e ,
S S =
N =
- - / T ‘ ]
H G
A. Sarcolemma A band I band
B. Sarcoplasm I band A Band
S0 Sarcomere I band A Band
D Sarcomere A band I Band

Q.579 Each pectoral girdle consists of:
A. Shoulder & hip girdles
C. Clavicle & innominate

Q.580 Fused joint is found in:
A. Elbow
C. Skull

(Q.581 What is not correct about arthritis?
A. Joint becomes swollen
C. Joint becomes moveable

B. Clavicle & sternum
D. Scapula & clavicle

B. Knee
D. Hip

B. Joint becomes painful
D. A, B and C are correct

Q.582 Identify the below diagram of cell organelles.




e \

e

Thhmnimny
W
NN

A. Smooth Intestine and stomach
B. Cardiac Heart wall
(%] Skeletal Heart wall
D. Cardiac testine and stomach

Q.583 Find the correct row regarding bones and

Carpals

Cranial bones

Clavicle and

SiEeli i

Q.584 Oxygen supplied to tire
A. ATPs
C.CO2 & ATPs

(Q.585 The bones of wri
A. Carpals
C. Tarsals

Q.586 In aleg, wh
A.5 14,8

B. Metacarpals
D. Metatarsals

nes in sole, toes and ankle respectively?
B. 8, 14,7

C.5,14,7 D. 14, 28,10
Q.587 Ribs are attac surface with and on their ventral side with
A. Sternum; vertebra =, B. Amms; legs
C. Vertebrae; sternum 'D. Pelvis; clavicle
Q.588 Which one of the following features is not related with cardiac muscles?
A. They are striated muscles. B. They are branched muscles.
C. They beat 1n a rhythmic pattern. D. They are voluntary in nature.
Q.589 What is the true set of bones of innominate bone?
A. Tleum, Ischium, Pubis B. Clavicle, Pubis, Patella
C. Ischium, Ilium, Pubis D. Pubis, Coccyx, Sacrum
Q.590 Five words are Shown below regarding structure of skeletal muscle.
Striated muscle Myofibril Sarcolemma Muscle fibres Sarcomeres

These words can be used in spaces G. H. 1. J and K to complete the sentence below.

Each skeletal muscle is actually a bundle of long and parallel closely packed thread
like multinucleated, cells called G __ Each fibre is covered by plasma membrane.
the H Each of these cylindrical fibres is itself composed of many individuals.

ultramicroscopic. Contractile 1  These fibrils are made u of linear series of _J .
which are the actual units of K  that contract.

Option | Muscle fiber | Sarcomeres | Myofibrils | Straited muscle | Sarcolemma
A. G H J K I
B. G H K J I
L G J I K H
13 ) G I J K H
E. H I K /) G
Q.591 With which state of a living muscle, are the following events associated?
1. Ca*" released by sarcoplasmic reticulum 2. Actin complexes with myosin
3. ATPase is activated 4. Troponin binds Ca*?
A. Relaxed state B. Muscle at the beginning of contraction
C. Muscle 1n tetanus D. Muscle at the end of contraction

Q.592 Which of the following function of skeletal system is accomplished with the help of
skeletal muscles?
A. Blood cell production B. Mineral homeostasis
C. Movement D. Protection

Q.593 The functional unit of skeletal muscles is actually a region of:




A. Myofibrils B. Myofilaments

C. A-band D. I-band
Q.594 Where can we find H-zone in the figure of fine structure for skeletal muscle’s
myofibril?
A. In the mid of A-band B. In I-band
C. Besides the Z-line D. Along the I-band
Q.595 Each A band has a lighter strip in its mid-section called:
A. Iband B. Z band
C. H-zone D. M line
Q.596 Thick and thin filaments in skeletal muscle are linked together through:
A. Cross bridges B. Ca+2 1ons
C. Troponin D. Tropomyosin
Q.597 During muscle contraction, ATP molecules bind with:
A. Actin B. Myosin
C. Troponin D. Tropomyosin

Q.598 Sarcolemma is primarily made up of:
A. Lipoprotein
C. Glycolipids
Q.599 I-band in skeletal muscle contains:
A. Thick filaments only
C. Mainly thick and partly thin
Q.600 During muscle contraction, H-zone dis
A. Muscle length
C. Overlapping of actin and m
Q.601 During muscle contraction, ¢
through:
A. Na-gates
C. Na-K pump

ning of sarcomere
sferred from SR to cytosol




B 372

212 | A | 262 | A | 312 | C | 34

280 | C330 | E |380|(B|430 B |(480|C |530|D
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241 |A | 291 |D (341 |C|391 B |441 | A|491 (B |541 B

243 | B | 293 | B (343 | C|393 D |443|C|493 | C|543 A

244 | B | 294 | A 344 |B | 394 |C | 444 | C | 494 |C | 544 | B

D|235 | A 285 |A |335|B |38 | C|435|C|485 B |535 | B

200 | C | 250 | B | 300 | B |350 |A|400 D | 450 D | 500 | C 550 A

C|152 | B|202 | D | 252 B |302|C|352 | C|402|C|452 | C|502|C|552 A
C|153|C|203|B | 253 D |303|C|353|A|403|C (453 (B |503|D|553|C

D/ 156 | D | 206 | D | 256 | B |306 |D| 356 | D | 406 | D | 456 | C | 506 | A| 556 | B

A|159 | B| 209 | B | 259 | C 309 | D|359 | C | 409 | B|A459 | C | 509 | A| 559 |C

D| 161 | B | 211 |B|261 |A|311|D 361 D |411  D|461 | C |511 | B |561 A

C|192 | D | 242 |A | 292 | A (342 D |392| A |442 D |492 C | 542 | B

C|19 |A|246 | B | 296 | A |346 |E | 396 | A | 446 | B | 496 | C (546 | A
C|197 |B | 247 (B | 297 |A (347 |E | 397 | D | 447 | A | 497 (A | 547 | A

D199 | C| 249 |D | 299 | C (349 |(D (399 D449 | C|[499 | C|549 | B

133 |C | 183 |C | 233 | A |28 D |333 A |[383|C|433 | A 483 |C|533 |C

134 | B | 184 |C (234 (B | 284 (C 334 |C | 384 | C | 434 | B (484 (B |534|C

136 | C | 186 | A | 236 | A | 286 | A |336 | C |38 |C|436 | D|486 B |536 | D

137 | B[ 187 |C | 237 |D | 287 | B | 337 | B |387 | B | 437 |B | 487 |B | 537 | C

138 | B | 188 |C | 238 (B | 288 D |338|(A 3838 | B |438 | D|488 | B |538 | B

139 |C | 189 |C (239 (B | 289D 339 |C|389 | A|439|C|489 A |539 B

140 | B | 190 | D | 240 | B | 290 | B (340 |C | 390 | D | 440 | B (490 |A | 540 | A

145 | B | 195 |D | 245 (D | 295 | B |345|(C | 395 |C | 445 | C|495|C|545 | B

C|104 | C | 154 |C | 204 |A | 254 |(C |304 | B|354 | B|404 | C (454 | D |504 D|[554 A

B|107 |A | 157 | B | 207 | A | 257 | A |307 |B|357|C | 407 |C|457 | D|507 | B|[557|C

B|110 B | 160 | D | 210 (C 260 (C (310 |C (360 | A | 410 | B | 460 | A|510 | B |560|C

58 |A | 108 | C|158 (C | 208 B 258 | D | 308 B |358|C|408 C|458 | C|508 A|558 B
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48 |A| 98 D |148 | D 198 (A | 248 (A 298 | C | 348 (B |398 | D 448 | C| 498 | C 548 | C




